Next Po‘e Hqtch Included fasteners:

4pcs M6x20 Flangescrew
E-no: 2700660 S-no:3506326 1pcs M6 nut

i I 1pcs M6 spri h
Assembly instructions pcs Mé springwasher

All electrical installation work must be carried out by an authorized
installer and meet the installation requirements in the country of use.

p
Prepare the hatch ~ -
Use the threaded pin for connecting the ground cable v |
(not included).

Next Pole Tackl UCkCI Medféljande fistelement:

4st M6x20 Flansskruv
E-nr:2700660 S-nr:3506326 1st M6 mutter

. . 1st M6 taggbrick
Monteringsanvisning st M6 taggbricka

Allt elinstallationsarbete maste utféras av en auktoriserad installator
och uppfylla installationskraven i anvandningslandet.

-
Férbered luckan T~ =)
Fast jordkabeln (ingar ej) i for andamalet avsedd B
pinnskruv. ﬂ ]
.

next ° green Next Green AB www.nextgreen.se

Brudtallsvégen 14 info@nextgreen.se
SE-792 32 MORA
SWEDEN




	Bild 1

